ohg 3 HE4e] AR AL ol AUA BEAL.

D 6:3=18:9 @ 40:30=4:3 ® 2:9=4:13

@ 7:8=49:56 ® 5:9=15:27



il

olJ
A

1%:0.75:1;@

® 25

@ 2

[ArlEa]

@ 0.5

® 0.25



olo} @olo] e Fae] H7} 7. 3

22750 P YT} =
[e)

oo
B

Fol9] ol F

3.

2 ujeln] FohA L.

)}
oH

o, dolo o=

oW

<



it

A3 @FFS] B7HE 50 %R

P It

2¢



olmL] o} ofH 2] o] FEA= &= 3.5 : 4.9 JUtE I FRAE
oMy ETh 12kgo] A5Ut o 2] 9] FFAI7F 84kgol2tH, G A
o w5 A= R kg W7

@ 40kg @ 60kg @ 46kg @ 48kg  ® 50kg



s1Fo 824 1A 7
AAE Bm, e
Q17 FoHA 2.

QA 6A

kJ e ed

o]

AAZE 7v=71E

L AAZE iU ol 0 94

13t



